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(1) 17 x 3.14 = 53.38(cm)
(2) 4x 2 x 3.14 = 25.12( cm)
53.38 + 25.12 = 78.5( cm)




‘ 15.7x 2+ 3.14 = 10( cm)
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(AAEY o)) = (N Fol)=2, (8F) = (A8 2
o])x3.14
(2] Hol) = (HA2] Zol) x (A5 Zol) x3.14
@211 o] Z0]7} 16( cm) |22
YFE= 16 x 3.14 = 50.24(cm) FY




188.4 +3.14 = 2 = 30( cm)
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6.28 km = 6280 m
6280 + (1 x 3.14) = 2000(HF)




o] E7F 56.52em Q] ¥ 7keF 50.24em ) @ Y sy o
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» E cm?

[> HEh 53.38cm?

~&B

(o= = (X&) x 3.14

= (YA F)x2x3.14
(B2 8)=(¢9 E9)+2+3.14
(9 712 ¥EA]E)= 56.52 + 2 + 3.14 = 9( cm)
(¢ o] ¥k 2)=50.24 + 2 + 3.14 = 8(cm)
(¢ 7ket ¥ o] o] o A}
=(¥ 7+e] Hol)—-(¥ Y& Heol)
=(9%x9x3.14) — (8 x8x3.14)
= 254.34 — 200.96
=53.38
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- (8481 1emet 9] goo) 1)

(12><12><314><;)+(8><8><3.14><%>

<4><4><314><;>

= 226.08 + 100.48 — 25.12
= 301.44( cm?)




_l>~
i
rsk
4
M

o] Yol g oAl 9.

~

T---18cm-- "~

L
N

- (@Age) 9emel 219 el 1)

1
:(18><9)—(9><9><3.14><§)

=162 - 127.17
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O0x0.14 =42
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(129 2+ A=) =50 x 3.14 = 157(cm) = 1.57(m)
2.983(km) = 2983(m)

— 2983 + 1.57 = 1900 =

=312 40%
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[> FEHl 28.26.cm?
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=314+314+2=5(cm)

(¥ @9 W25 4o)

=25.12+3.14+2 = 4(cm)

(9 @t 4 @2 Holol 2

=5x5x3.14-4x4x3.14

— 78.5 — 50.24 = 28.26( cm?)
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o] Wo] : 28.26 + 0.2 x 0.8 = 113.04( cm?)
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[ ]x3.14 = 113.04(cm?)
x[ ]=113.04+3.14
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19. o5 =004 7Het ol A59] o2 16 cm , e o] 2152 gk
26cm , 7F W, oF Al 99 AF9] ?F2 30cm & H, o] =9 A9
=dE durduzt?

>
[> ®eh. 94.2cm

7F+ =16
ot =30 - 16 = 14(cm)
U+ o =26

U =26-14 = 12(cm)
7} =16 — 12 = 4(cm)
AA S © (4x3.14) + (12 x 3.14) + (14 x 3.14)

= 12.56 + 37.68 + 43.96
= 94.2(cm)
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e H0))+ (A2 B 9] Wol)xa+ (e
= (24>< 24) + (24 x 12) x4 + (12 x 12 x 3.14)
=576 + 1152 + 452.16

= 2180.16( cm?)

(At 729 Hol)

=(ZAol)- (<] "ol)x4

= 2180.16 — (12 x 12 x 3.14) x 4

= 2180.16 — 1808.64

= 371.52(cm?)

Hol)




